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Part A

, Answer all qusetions.
Each question carries L weightage.

1. State the conditions for an unbounded solution of a LPP.

2. What is the use of MODI method ?

B. How do you convert an unbalanced transportation problem into a balanced one ?

4. Distinguish between sequencing and scheduling'

5. State the rule of dominance in game theory.

6. Explain the significance of simulatiorr in model building.
(6x1=6weightage)

Part B

Answer any sk questions.
Each question carries 3 weightage

7 . An animal feed company must produce at least 200 Kgs. of mixture consisting of ingredients X,

and & darly.X, costs Rs.3/- per I(g and X2 costs Rs.8/- per Kg. No more'than 80IQ of X, can be

used anrl at least 60 Kg of X2 must be used. Formulate a mathematical model to the problem.

8. A manufacturer has two products P, and P, both of which are produced in two steps by machines

M, and Mr. The process times per hundred for the products on the machines are :

M1 M2 Contribution (per

100 units) .

P1 4 5 10

P2 5 2 5

Available

hours

100 80

Th"m"',ffitupswingandcansellasmuchashecanproduceofbpthproducts.
Formulate the mathematical model and determine the optimal product mix'

Turn over
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g. ABC Iimited has three production shops supplying a product to five ware houses' The cost of

product varies from shop to shop and cost of transportation from one shop to a warehouse also

varies. Each shop has a specific production capacity and each warehouse has certain amount of

requirement. The cost of production is as given below

Ware house

ilIIII.\/v
Capacity

100

60 80 85 105 70

Thecostsofmanufactureoftheproductatdifferentshopsare:

Shop Variable cost Fixedcost

A L4 7,000

B 16 4,000

C 15 5,000

,,i* ppliea from each shop to different warehouses at minimum

total cost.

With suitable example illustrate PERT and CPM'

with a suitable methodologT how will you help the following sales person ?

To citY

1284
1 ---- 10 25 25
!J

211015
Fromcity38920

4L41024
10 25 27

what are the steps involved in simulation ? Explain its advantages and disadvantages'

Explain the various steps in solving the travelling salesman's man problem'

Egg contains 6 units of vitamin A per glam and 7 uriits gfvitamrn B per gram and cost 12 paise per

;;. Milk contains 8 units of vitamin A per gram anf 
-lzunik 

of vi-tami" 
P Tt Br&D' and costs

20 paise per gram. The daily minimum requirem"nt of vitamin A and vitamin B are 10O units and

120 units respectively. Find the optimal product mix. 
(6 x B,= 1g weightage)
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Pirrt C

Answer any fuo questions.
Eaeh question eanies 6 weightage.

15. Solve the problem under simplex method.

Z= 5\ +3k
Subjectto t+ \< z
, , 5x, + 2x, <10

3xr+8,ar<12.

solve the followin! transportation problem whosp cost matrix availability at each plant and

16.

17.

' 
. 

:r, . Ware House, ,. .. tgo .'' g0o 500" 'roo
, ,:''. :.:

Plant 700 300 400 600

, I00 '',6(8,,,.200-
, .j::'j.:':aE.<

80 70 . 140

Arailability

70

90

':,180.

Analyze the solution by VAIVI.

(2x6=12weightage)


